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1D pull distribution

asym_bcm_an_us (ppb)
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asym_bcm_an_ds3 RMS (ppm)

€'861Y
¢'861Y
18611
0’8611
14
€'.61Y
¢'L61Y
T'.l61v
0,61V
€961V
2’9617
T'961v
0961V
0'S61Y
€'E61IY
2'e61y
T'e6ly
0'€61Y
4214
€¢61Y
¢'¢6ly
T'¢61ly
0'¢61y
V'161Y
€T61IY
¢'T61Y
T161v
0'T6TY
7’0617
€061y
2061y
T061v
0061V
7’681y
€681y
2’681y
1681y
0’6817
'881Y
€881y
2’881y
T'881v
0881V
¢'/181Y
T'/81v
0'/81Y
7’981y
€981y
2981y
1981y
0'981Y



asym_bcm_dg_us (ppb) 1D pull distribution
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1D pull distribution
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diff_bpmE RMS (um)

. —

. —

. —

. —

. —

. —

. —

. —

. —

. p—

. p—

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. p—

. p—

. p—

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. p—

. p—

. —

. —

___________________________o________________+
~N - ~ o 0 N~ © n <
~ ™~ © © © © © ©

(wn) SNY

€'861Y
¢'861Y
18611
0’8611
14
€'.61Y
¢'L61Y
T'.l61v
0,61V
€961V
2’9617
T'961v
0961V
0'S61Y
€'E61IY
2'e61y
T'e6ly
0'€61Y
4214
€¢61Y
¢'¢6ly
T'¢61ly
0'¢61y
V'161Y
€T61IY
¢'T61Y
T161v
0'T6TY
7’0617
€061y
2061y
T061v
0061V
7’681y
€681y
2’681y
1681y
0’6817
'881Y
€881y
2’881y
T'881v
0881V
¢'/181Y
T'/81v
0'/81Y
7’981y
€981y
2981y
1981y
0'981Y



1D pull distribution
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diff_bpm4aY (nm) 1D pull distribution
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diff_bpm4eY RMS (um)
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asym_usl RMS (ppm)
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asym_usr RMS (ppm)
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